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Why So Many Children?

The rapid population growth in less-developed countries is a result of high birth rates.
Women in these countries have many children on average. Why do they have such large
families, when feeding and caring for them can be a problem? The answer may often be that
they have no choice. Many factors make it difficult for women to limit the size of their families.

Economics undoubtedly plays an important role. In poor countries, a large family is
necessary for economic survival. More children mean more hands for work. They also mean
someone to take care of the parents in old age. In industrialized countries, on the other hand,
children do not increase family income. Instead, they are an expense. Furthermore, people in
those countries usually do not depend on their children in their old age.

However, economics cannot entirely explain birth rates. Saudi Arabia, for example, has
one of the highest per-capita incomes in the world, but it also has a very high birth rate (7.0).
Mexico and Indonesia also do not follow the general rule. Though they are poor countries, they
have reduced their population growth by 53 percent and 25 percent in recent years.

Clearly, other factors are involved. These factors may relate to the economic situation, but
not necessarily. Population experts now believe that the most important of these factors is the
condition of women. A high birth rate almost always goes together with lack of education and
low status for women.

This would explain the high birth rate of Saudi Arabia. Traditional Arab culture gives
women little education or independence and few possibilities outside the home. It also explains
the decline in birth rates in Mexico, Thailand, and Indonesia. Their governments took measures
to improve education for women and opportunities for them outside the home.

Another key factor in the birth rate is the availability of birth control. Women may want to
limit their families, but have no way to do so. In Ireland, for example, birth control is illegal.
Not surprisingly, Ireland has the highest birth rate in Europe. Where governments have made
birth control easily available, on the other hand, birth rates have gone down. This is the case
in Singapore, Sri Lanka, and India, as well as in Indonesia, Thailand, and Mexico. In these
countries women have also been provided with health care and help in planning their families.

Yet another factor to influence birth rate is infant mortality. (Infant mortality is the
percentage of babies who die in their first year.) In industrialized countries, infant mortality
is around 1.5 percent. In less-developed countries, however, it can be 20 percent or more.
Fearing the loss of some children, women are encouraged to have more.

Thus, an effective program to reduce population growth must work in many areas. But
above all it must be aimed at women and their needs. Only then does it have any chance of
success.

485 words



m | AM A FAST READER (in-class tasks)

Choose the best answer to complete each of the following sentences based on the information
given in the text. '

1 The population increases rapidly in less-developed countries because of
A family planning B poverty
C cultural factors D high birth rates

2 What factors are mentioned that make it difficult for women to limit the size of their
families?
I. More independence for women.
1. Lack of education for women.
. Lack of birth control.
IV. Infant mortality.
A 1 only. B landll
C Iland Il D I, 11, and IV.

3 Having a large family in a less-developed country very often means having
A a greater family income
B more mouths to feed
a higher family expense
D a better education for children

4 Having more children in industrialized countries often means having
A an increased family income
B better support for elderly parents
better relations in the family
D a higher family cost

5 Which country is mentioned as an example which has both high per-capita income and a
high birth rate?
A Indonesia. B Sri Lanka.
C Saudi Arabia. D Thailand.

6 Mexico enjoys a reduced birth rate mainly because of
A its traditional culture
B low per-capita income
C fewer job opportunities for women
D more education for women
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When the text says that Indonesia does not follow the general rule, what does it mean?
A It has high per-capita income and a low birth rate.

B Itis a poor country but has a low birth rate.

C ltis an industrialized country but has a high birth rate.

D Itis a poor country and has a high birth rate.

Ireland enjoys a high birth rate mainly because of
A high per-capita income

3 lack of birth control

little education for women

O N @

poor healthcare system

Based on the information given in the text, what would the infant mortality rate probably
be in a country like Germany?

A 1.5%. B 15%.

C 20%. D 25%.

What can be done to help reduce population growth?

I. Making birth control easily available.

Il. Giving women more education.

lll. Providing women with more job opportunities.

IV. Relying on children more for income.

Al only. B land Il

C I, 1land . D 1,1, and IV.



M| AM MORE THAN A FAST READER (after-class tasks)

Read the text carefully again after class and finish all the following tasks.

1 Focus On The Main Idea

A. Use one or two sentences to summarize the main idea of the text and write it down in the
space provided.

B. Think of at least two words or phrases that can best describe the text or part of the text
and write them down in the space provided.

Note Down Good Expressions

Write down in the space provided the good expressions in this text that you have noticed and
want to learn.

3 Use The Right Expressions

Fill in the blanks with one of the expressions given in the box. Some of the expressions can be
used more than once. Make sure each sentence is grammatically correct.

on average take care of go down

relate to infant mortality above all

take measures

1 The value of the U.S. dollar has been lately.
2 is still very high in some developing countries.



3 | have a very supportive extended family, who my son at night when |
went to graduate school.

4 English language classes will be more meaningful when they students’
personal lives and cultural backgrounds.

5 To be useful, a new technology must satisfy a number of requirements in addition to

being effective. , it must be safe.

6 This physics teacher always uses interesting examples to help students see how real-
world situations physics.

7 , adults are sleeping 6.8 hours a night on weekdays and 7.4 hours on

weekends according to a recent study.
8 The government has promised to to help the unemployed.

4. Enhance Your Collocation Awareness

A. The word “population” is a key word in the text and appears on a number of occasions,
such as “rapid population growth” and “population experts.” What other words can
go with “population”? Give as many collocates as you can think of that can go with
“population” and put them in the right category.

‘ adjective + population ‘ populatior; + noun
I 1) large ) 1) growth

2) 2)

‘ 3) | 3)

| 4) 4)

I N S

B. In the text, different words have been used to describe the word “country” such as
“industrialized” and “less-developed.” Listed below are some more collocates that can go
with “country.” Find the one that is different from the rest in each group and cross it out.

1) beautiful 2) fascinating 3) great 4) neighboring ‘

| . 1) friendly 2) hot 3) tropical 4) temperate ‘

a(n) | ———————— country |
‘ ‘ 1) foreign 2) home 3) overseas 4) strange

| 1) developed 2) backward 3) rich 4) affluent ‘ ‘

C. The word “birth” has been used frequently in the text such as “birth control” and “birth

- rate.” Listed in the box below are some more collocational uses of “birth.” Find the right

collocation and put it in the blank. Make sure each sentence is grammatically correct.
There are more collocations than you need to fill in all the blanks.



at birth

by birth

place of birth

date of birth

the moment of birth

birth certificate

She

He is Chinese
We didn’t

G A W N =

| do not know her name.

birth rate

birth control

birth weight
register one’s birth

give birth to

a baby boy yesterday.
The baby weighed 4 kilograms

, but lives in Singapore.

until he was almost one year old.
Nor do | have any knowledge of her

When you apply for your passport, you will need to show your

7 Without the
population so drastically.

8 China used to have the world’s highest

. In the text, many words with opposite meanings have been used such as “industrialized”
versus “less-developed.” For each phrase below, think of a word that means the opposite
of the underlined word, and write it in the space provided. The word may or may not

appear in the text.

policy, this country would not have reduced its size of

a large family

for many years.

rapid population growth

reduce population growth

poor countries

high per-capita income

old age

effective program

_

birth control is illegal

high birth rate

play an important role

‘ another key factor




